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QUESTION 1

Which of the following storage techniques places frequently accessed data on faster media while placing seldom
accessed data on slower media? 

A. Defragmenting 

B. De-duplication 

C. Thin provisioning 

D. Tiering 

Correct Answer: D 

 

QUESTION 2

Which of the following is true for load balancing? 

A. Load balancing cannot be provided without an effective RAID configuration. 

B. A dual-port HBA will always provide load balancing. 

C. A dual-port HBA to an array capable of active/active sessions. 

D. I/O sent from a host through two ports to an array will provide load balancing. 

Correct Answer: C 

 

QUESTION 3

How many initiators per zone should be used to adhere to BEST SAN zoning practices? 

A. One 

B. Two 

C. Four 

D. Unlimited 

Correct Answer: A 

 

QUESTION 4

SAN zoning provides which of the following? 

A. A means to mask LUNs for clients 
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B. A method with which to divide the fabric into VSANs 

C. A means of partitioning a SAN fabric at the network layer 

D. A means of controlling access to storage at layer 4 

Correct Answer: C 

 

QUESTION 5

A storage array has a mixture of 150GB, 300GB, 400GB, 500GB, and 1TB drives. Which of the following drives can a
300GB hot spare protect? (Select TWO). 

A. 150GB 

B. 300GB 

C. 400GB 

D. 500GB 

E. 1TB 

Correct Answer: AB 
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